Practice questions — Year 4 — Money
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. | bought some sweets for 60p, some fruit for 45p and a drink for £1.50. How much did | spend? (money)
. | bought some sweets for 75p, some fruit for 33p and a drink for £1.85. How much did | spend? (money)
. | bought some sweets for 98p, some fruit for 42p and a drink for £2.00. How much did | spend? (money)

. I buy some sweets for £1.34. | pay with a £5 note. What is my change? (money)

| buy some sweets for 95p. | pay with a £2 coin. What is my change? (money)

. | buy some sweets for £2.15. | pay with a £5 note. What is my change? (money)

. I buy some sweets for 80p and a piece of fruit for 23p. | pay with a £5 note. What is my change? (money)

| buy some sweets for 45p and a piece of fruit for 58p. | pay with a £5 note. What is my change? (money)
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Practice question answers — Year 4 — Money

. | bought some sweets for 60p, some fruit for 45p and a drink for £1.50. How much did | spend? £2.55 (money)
. | bought some sweets for 75p, some fruit for 33p and a drink for £1.85. How much did | spend? £2.93 (money)
. | bought some sweets for 98p, some fruit for 42p and a drink for £2.00. How much did | spend? £3.40 (money)
| buy some sweets for £1.34. | pay with a £5 note. What is my change? £3.66 (money)

| buy some sweets for 95p. | pay with a £2 coin. What is my change? £1.05 (money)

| buy some sweets for £2.15. | pay with a £5 note. What is my change? £2.85 (money)

. | buy some sweets for 80p and a piece of fruit for 23p. | pay with a £5 note. What is my change? £3.97 (money)
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. | buy some sweets for 45p and a piece of fruit for 58p. | pay with a £5 note. What is my change? £3.97 (money)
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